
In vigore dal - Effective from    15-12-2021102

POMPA ACQUA - PULEGGE - TUBI - FASCETTE
WATER PUMP - PULLEYS - PIPES - CLAMPS

R

T

U

V

P
O

W

Q

S

A

B C

D

D

G

H H

I

J
K

L

L

L

E

E

E
F

M

M

M

N

F

F

Tav. 49



Rif. Cod. WATER PUMP - PULLEYS - PIPES - CLAMPS ￥

49 Description Tax  included
A 0097.B0 ｳｫｰﾀｰﾎﾟﾝﾌﾟ　ASSY Water pump 21,450
B 0097.B10 Puleggia pompa acqua Water pump pulley 3,300
C G.5X8  Grano M5 x 8 mm Locker M5x8 mm 44
D 0097.04 ｳｫｰﾀﾎﾟﾝﾌﾟﾍﾞｱﾘﾝｸﾞ Water pump bearing 2,200
E V.TB5X20 ﾎﾞﾀﾝｽｸﾘｭｰ 5X20 TB screw 5x20 mm 88
F R.P.5X11 ﾜｯｼｬｰ D.5x11 Washer Ø 5x11x1 mm 11
G 0097.B3A OTK ｳｫｰﾀｰﾎﾟﾝﾌﾟ/ｲﾝﾍﾟﾗｰｼｬﾌﾄ Water pump crankshaft 1,760
H 0097.08A OTK ｳｫｰﾀｰﾎﾟﾝﾌﾟ/ｲﾝﾍﾟﾗｰｼｬﾌﾄｼｰｶﾞｰ Seeger for water pump shaft 33
I 0097.B6 OTK ｳｫｰﾀｰﾎﾟﾝﾌﾟ/ｶﾞｽｹｯﾄ Sponge for water pump 462
J 0097.05 ｳｫｰﾀｰﾎﾟﾝﾌﾟｵｲﾙｼｰﾙ RG 6x22x7 Oil-seal 1,210
K 0097.B7A ｳｫｰﾀｰﾎﾟﾝﾌﾟｲﾝﾍﾟﾗｰ Water pump Impeller 3,080
L D.M5A.B. ﾛｯｸﾅｯﾄ M5(ﾅｲﾛﾝ) A.B. nut M5 mm 22
M V.TCE4X12 Vite TCEI 4 x 12 TCEI screw 4x12 mm 44
N 0259.DA Supporto pompa acqua Water pump support 0
O 0259.E28KIT ｳｫｰﾀｰﾎﾟﾝﾌﾟｸﾗﾝﾌﾟKIT D.28 Complete water pump clamp Ø 28 mm 14,300
O 0259.E30KIT ｳｫｰﾀｰﾎﾟﾝﾌﾟｸﾗﾝﾌﾟKIT D.30 Complete water pump clamp Ø 30 mm 15,180
O 0259.E32KIT ｳｫｰﾀｰﾎﾟﾝﾌﾟｸﾗﾝﾌﾟKIT D.32 Complete water pump clamp Ø 32 mm 15,180
P 0098.B0 ｳｫｰﾀｰﾎﾟﾝﾌﾟﾌﾟｰﾘｰD.50 Water pump pulley Ø 50 mm 6,270
Q 0096.C0 Cinghiolo pompa acqua Ø 92 mm Water pump belt Ø 92 mm 0
R 0096.00 ｳｫｰﾀｰﾎﾟﾝﾌﾟﾄﾞﾗｲﾌﾞﾍﾞﾙﾄ (ｵｰﾘﾝｸﾞ) Water pump belt Ø 110 mm 385
S 0096.B0 Cinghiolo pompa acqua Ø 133 mm Water pump belt Ø 133 mm 0
T 0095.00 ﾗｼﾞｴﾀｰﾎｰｽ L Water pipe L. 800 mm 0
U 0095.A0 ﾗｼﾞｴﾀｰﾊﾞｲﾊﾟｽﾎｰｽ　Φ12x17mm Water pipe Ø 12x17 mm 0
V 0091.00 ｳｫｰﾀｰﾎｰｽﾊﾞﾝﾄﾞ Φ16x25mm Water pump AC clamp Ø 16x25 mm 0
W 0091.A0 ｳｫｰﾀｰﾎｰｽﾊﾞﾝﾄﾞ Φ12x20mm Water pump AC clamp Ø 12x20 mm 0


